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REFERENCE HALL ACCESS TEST [07-12-2019]

APTITUDE & MENTAL ABILITY SOLUTIONS

A number consists of 3 digits whose sum is 10. The middle digit is equal to
the sum of the other two and the number will be increased by 99 if its digits
are reversed. The number is:

a. 145 b. 253 c. 370 d. 352

QM cpaBlevds elenienllal FabBHe0 10. HBOLUTIENNET LOSHILILITERISHI LOBB 61601856160

FBHVHEG FOWD. HH POSlevSHS  6TewTenemT  aIEOBHILBLOHHSH  LMTSHGHEUTIS
WhmsWw waHlmuall 99 SIHSMNHHBHI 616160 DIHFH 6T6wl WITSHI?

a. 145 b. 253 c. 370 d. 352
Explanation:

The middle digit is equal to the sum of the other two.
So, the number is either 253 or 352

253 +99 =352

Hence, required number = 253

If a number is as much greater than 31 as it is less than 75, then the number is
a.53 b. 106 c.44 (d) 74

(b elewiemimendl 31-3 &l elelauene) DiFHHOTH 2 6TenCHT DIBFH Slevay

75-9 @l GmBEUTH 2 61T6NIGH| 616360 Db 6T60IN6IS HTEWISH

a. 53 b. 106 c.44 (d) 74

Explanation:

If the number be x, then

x-31=75-x

=>2x =75+31=106

=>x =53

Which of the following number is divisible by 9?

a. 8576901 b. 96345210 c. 67594310 d. 2784224

HC OBTBSHSLILL [BHeiTen eTanisberled 9oL60 MGG 61601 WITGI?

a. 8576901 b. 96345210 c. 67594310 d. 2784224

Explanation:

Divisibility by 9:  When the sum of all the digits of a number is divisible by 9,

then the number is also divisible by 9.

99160  UGUGBD eTewl:  OBETHSBULLL @  6T6HIeNIeVI6T6N  6T60IH6aT6T  n(HSHEVTEIH
08160 UGLIBLOTEITED Db 616001 I LD UGLIBLD.

8576901 - 8+5+7+6+9+0+1=36 or 3+ 6 =9.
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In a division sum the divisor is 12 times the quotient and 5 times the
remainder, If the remainder is 24, then the dividend is
a.1224 b. 1242 c. 1222 d. 120
QRH UGUGBLD elewienle @GSHSHwTergd FeeuliBumed 12 wLmiG, WHewlt Gured 5
IOLMIG 2 6itenigl. Goeuid &Hwmesigl 24 6leile0, UGLIBLD 66w
a. 1224 b. 1242 c. 1222 d. 120
Explanation:
Given that Remainder = 24
Divisor is 5 times the remainder
=> Divisor =5 % remainder =5 x 24 =120
Divisor is 12 times the quotient
=> Divisor =12 x Quotient
=> 120 =12 x Quotient
=> Quotient =10
Dividend = (Divisor x Quotient) + Remainder
= (120 x 10) + 24
=1224

The difference between two numbers is 642. If the larger number when
divided by the smaller one given 8 as quotient and a remainder of 19. What
will be the largest number?

a. 715 b. 723 c. 731 d. 740

B eleuisEhSHemL_Cuiwimer  alHHTFDd 642, 9iFHed Guflul  elewwienssr  Fpsiul
GTEMIENITEL  aUGHHGWOLTH 8 Feaumda b 19 WHwInsed SHenL sHmH  6lene0 Gl
oTemsT  Wimgl?

a. 715 b. 723 c. 731 d. 740

Explanation:

Let the smaller number be x. Then larger number = (x + 642).
x+642=8x+19

= 7x =623

= x =89

-~ Largest Number = 89 + 642 = 731.

The total number of prime numbers between 70 and 100?

a.9 b. 7 c.5 d.6

70-860 @\mpHHI 100 euengueiien GIOTSHSH LIST 6160018561160 6T600T60NHMS WTHI?
a. 9 b.7 c.5 d. 6

Explanation:

The prime numbers between 70 and 100 are 71, 73, 79, 83, 89, 97.

Thrice the square of a natural number decreased by 4 times the number is

equal to 50 more than the number. The number is :

a.4 b.5 c.6 d. 10
www.appolosupport.com, PH: 044-42867555, 9840226187



http://www.appolosupport.com/

QMH BUIL 6lewIenlell UTHSHHMS (WPOWL MISTEHS DIHV(HHSH Suled elewrenier 4
DL BiSlenel  SPHGHD OUTWSH HOLEGWD WLHILTHIH DbH EUled  6T6wT6001 601
wHlmL el 50 SHHOTGD 6eafled DibHFH @uled eTewl WTGHI?

a. 4 b.5 c.6 d. 10
Answer: Option B
Explanation:

Let the number be x.
Then, 3x2-4x=x+50<=>3x2-5x-50=0
<=>(38x+10) (x-5)=0<=>x=5.

Show below are four different positions of the same dice. Find the number on
the face opposite the face showing 6.

(u) (:u) (I v)

c.4
LIs6emLUTledr ;rgrram@ GlouelGouml  Hlewevsei aﬁ(%gg ST LU (BeiTerigl. 6 6TaiiB
Grﬁom@n&,@ GIQ)‘]@U © 66N  6T6U0T u.m@]‘?

0

(u) (:u) (w)
c. 4
Explanatlon.
Compare (ii) & (iii)
Common Number should be removed.
i) 2 > 4
i) 3 > 6
2 and 3 are opposite each other.
4 and 6 are opposite each other.

Select from, the alternatives, the box that can be formed by folding the sheet
shown in figure (X) :

AlE] - | |
B : oS F F : E D
N E B S B
X) x W’ W (D)
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10.

11.

a. A only b. B only c. A and C only d.A,B,Cand D
X aaim GBGSIUL BeTen L SHHenaid OBTeniL.  HTeMenal IQHHTeD  SHleML dbEHLD
allenl_  6T6oT601?

AlE] " | |
Bl /¥ 7/ E D
B [E E B |5 B

c|D , , :
X) X @wo m O (D)
a. A LB b. B o @b

c. A wpmib C o1 Bib d. A, B, C iomgib D

Explanation:

A & D are opposite each other.

F & B are opposite each other.
E & C are opposite each other.

Amongst the following figures, find the correct one, if it is known that the

total number of dots on opposite faces of the cube shown is always 7.
CaTheHBLILL (BeiTem  LLMmGeMe0 @ mbah Flwmer eeaiwp CahiTe OFLweD. @
usmLUNeL @Iewih  HTULSBRIS6TET  FnBHe0 eIOLTIHID  GOTH  E(HESD
Gouewr(hLb.

a b C d

Explanation: Option (a)

Since the total number of dots on opposite faces is always 7,

therefore, 1 dot appears opposite 6 dots, 2 dots appear opposite 5 dots and
3 dots appear opposite 4 dots. Hence, Option (a).

A dice is numbered from 1 to 6 in different ways.

If 1 is opposite to 5 and 2 is opposite to 3, then

a. 4 is adjacent to 3 and 6 b. 2 is adjacent to 4 and 6
c. 4 is adjacent to 5 and 6 d. 6 is adjacent to 3 and 4
@ usmLUlled 1 (1pFHed 6 euenguileomer elemidbei OBTHHSBLILIL (HETEG.
1-6@& 6IFHITE 5-0 265@ 6IHITH 3-10 2 66N 6160760

a. 453 S(HBe0 3 BEpId 6 b. 2&E HAed 4 WBBID 6

C. 46@ SImHFe 5 wBmIb 6 d. 6 & SHBL 3 WBBID 4
Explanation:

1 & 5 are opposite each other.

2 & 3 are opposite each other.

4 & 6 are opposite each other. Hence, Option b is correct.
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12.

13.

All the six faces of a cube are coloured with six different colours - black,
brown, green, red, white and blue.

i. Red face is opposite to the black face.

ii. Green face is between red and black faces.

iii.  Blue face is adjacent to white face.

iv.  Brown face is adjacent to blue face.

V. Red face is in the bottom.

Which of the following is adjacent to green?

a. Black, white, brown, red b. Blue, black, red, white
c. Red, black, blue, white d. None of these

RH SINFFHTHDH B LSIMSeT60 (B &@bly, ULy, uFemd, &euli,
Gleu6ITem6N OMBILD [H6V GUGNTIEIIRIGBET SHL L LILIL (HeiT6reT.
1. HouIB@ e1HITS SHUILY 2_6iTeNg)
ii. UFmF HBTeig FaullliB@G SHUILIBGSD Benluled 2 6Teng)
1. B HBTEIH OeUeTENeTSHEG DIHBe0 2 _6Tend)
iv.  uwly Ppwrers Heo PBSHBEG DHSed 2 6eng)
V. Fauli] ppwrerg SPUILGH U0 2 6Teng)
LUFNFHG DIHB60 2 66T HIBHISH6T WTeneu?
a. &y, Oeueener, LU, Feuliy b. peod, s, Heuliy, Geusitenern
c. dany, sy, Beold, Gealsenen d. Bemel 6HILOE0EM6D
Answer: Option A

Explanation:
G H
SBEF — Red
8] C DiCHG — Black
ARCD — Green
F E EFGH — Blue
AFGD — White
A B BCHE — Brown

The shadow of a pole with the height of 8 m is 6m. If the shadow of another
pole measured at the same time is 30m, find the height of the pole?

8 6 men(peiten HbuGHHeT Hipedler memd 6 5.  9I8x GCryHaHlev, 3015 Hliped
JBUBSHBID LBOBTH SWOUSHE HeD 6T6lleuere,?

a.30m b.225m c.40 m d.42m
Explanation:
Shadow (Pole) Height(Pole)

6m 8m

30m ?

_ 30x8 _40m
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14.

15.

16.

17.

If 30 men can reap a field in 15 days, then in how many days can 20 men reap
the same field?
30 BUTHET @@H euwemeL 15 BTl &aled SipleuenL.  CFUISBTIH6T 6leie0, 20
BUTHET  61dhHemenr BT Heilled  Slelauwiened Simleuenl.  QFUIaMTH6T?  (SI6VG
(pemBenWIL]  LIweTU(bSH SIS )
a. 25 days b. 22 V2 days c. 40 days d. 20 days
Explanation:
M,xD, =M, xD,
30x15=20x D,
_30x15
- 20

D, = 22%days

A farmer has enough food for 144 ducks for 28 days. If he sells 32 ducks, how
long will the food last?
@ aleugmuiuiLd 144 amHHBEHHG 28 HTLSHEHEHGHDH CHeveuwTer o w6
® aiteNgl. U] 32 auTHHISmeT BB L] eleled, Seufll b © 6iem 2 606
O (LpelTen  61dHHemen BT HEhHGL CUTHIOTEOTHTE BHBHGW?
a. 40 days b. 30 days c. 126 days d. 36 days
Explanation:
M, xD, =M, xD,
144x 28 = (144-32)x D,

| 144x28

2112

=36 days

The cost of 1 box of tomato is ¥ 200. Vendan had money to buy 13 boxes. If
the cost of the box is increased to I 260 then how many boxes will he buy

with the same amount?

@ Oully goamaiulear ealemev 200. GaubsHer Seufl b o e6em UIGHH6e0 13
QUL IHemeT MRS (h GuLiguier alemev 260 6l DIFHBFHBHTEL SieuflL b
©_6iT6N LIGNISHNS MeUHSI 615HHemen G 1986 eUMhIS (IQULD?

a. 15 b.10 c. 20 d.8

Explanation:

Cost of 13 boxes =13 x 200 =32600

The cost of the box is increased to I 260
2600

No.of boxes Required(Same Amount) = 60 =10

The price of a house is decreased from Rupees Fifteen Lakhs to Rupees
Twelve Lakhs. Find the percentage of decrease

a.10% b. 20% c. 30% d.5%

R ol lger alewev 15 @eul &b epuTUlel(BHbH 12 @6 FID HUTWTSS GDOBHSHA
aIelleL GHMBHSH FHAIPHLD HTCUTOLD.

a.10% b. 20% c. 30% d.5%
Explanation:
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18.

19.

20.

percentage of decrease = (%jxloo = %xloo =20%

A number is increased by 22 12 % and gives 98. The number is

A. 45 B. 18 C. 80 D. 81

@ etewienawt 22 Y2 % o _witdhgid Gurgk 98 HanlsHmEH eefled OibdH  6eTeut
A. 45 B. 18 C. 80 D. 81
Explanation:

Let, original number be x.
122 %2 % x = 98
= % %x =98
o 98x2x100 _
225
The Population of a village grows by r% every year. In 2 years the population
increases from 10000 to 11025. Then r is
A.5 B.3.5 C.25 D.15
QM HITDSHHT 10HH6T OHTDD WG @B % oiHld FJ1a  migd CaTewi®
OgFevdmgl. 2 oamihHeled  WHSHeTeHTmas 10000 SFHmbaH 11025 &
OIFH Bl HHI6TeNGI. 6lefled T 6l6iI6I6TE|?
A5 B.3.5 C.25 D.1.5
Explanation:

80

R N
Pl1+—| =Amount
100

N 2
{100+ R} _ 11025 _ (105J — 100+ R =105%

100 | 10000 \100
-. R=5%
The time taken for 4400 to become I4851 at 10%, compounded half yearly is
a. 6 months b 1 year c. 1Llyears d. 2 years
2
10% oyt eul lguied, SIDFWUTERIBHHOBTH (1pdB QI 195  HEWISBLLILIL LTV,
4400 syevig I4851 o5 SLGID.
a. 6 LDTHBIB6I b1l oG c. 1l symiGmei d. 2 syeBser
2
Explanation:

Since the interest is compounded half-yearly, so the rate of interest,
R_10_ 5%.
2 2
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21.

22.

23.

4400 [105) 4851 (21) _ 4851 _ 441
100

20 4400 400
2N 2
(%) = (%j = 2N =2 = N =1year
or

C.I1=4851 -4400 =% 451.
C.I fro first six month = 4400x% =220

C.I for second six month = 220+220x% — 220+11=231
C.Ifor 1 year = 220 + 231 = 451.

The difference between simple and compound interest on a certain sum of
money for 2 years at 2% p.a is I 1. The sum of money is

2% opewih el iguiled, 2 YT BBEHSGFH @J DFVEGHD HLHD Bhl_@G)_II_LQBB@LD
safau 9b@D Bl Guiujeren albHuwmgd I erefed, DF6O LTS
LG LD.
a. 2000 b. 31500 c. <3000 d. 2500
Explanation:

p= D|ff><(1;0j E - ) (120) — 2500

A certain sum of money invested at a certain rate of compound interest
triples in 7 years. In how many years will it become 81 times?
a. 28 years b. 36 years c. 72 years d. 77 years

@b GUUILL &G ey ssHHe0 WHedh OFUwluGL @m GBI
OpTensd 7 SLIBHeNe0 S GuTev ceIBl DL RISTSBSI. DI 615360601
SLeNI(BH6Me0 81 1O MISTGLD?

a. 28 syet(hab6i b. 36 eyemiHEe

C. 72 o|amiB a6l d. 77 syemieamel
Explanation:

3T = 7 years - 17

9T = 14 years 37 (3) —>7yrs
27T = 21 years 817 (3)" — 28 yrs

81T = 28 years

The effective annual rate of interest equivalent to 8% p.a. interest
compounded half yearly is:

a. 8.4% b. 8.8% c. 8.16% d. None of these

SmJ DWIBHGH @ (WoB ey L LUUGausTuler, SenibhdhE 8 al1pdsTlh
B AIHHHL AUGHGIILGL QILQHGHF FWOTET HST ewi(h  ully  aiFHld
616116)61T6)] ?
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24.

25.

a.8.4% b. 8.8% c.8.16% d. BauBpiled eigia|D Be0enev.
Explanation:

Rate of 8% per annum payable half-yearly. So, effective rate = 4%.

4+4+M=8.16%
100

The annual rate of growth in population of a town is 10%. If its present
population is 26620, the population 3 years ago was

RH  BIISHST  10HHTeHTnD  eihCHTHID  10%  FHSfHB MBS SDIFH60
SBBUTEHHW  10SHHTOHTENH 26620 6laNe0, 3 eWIBHBEHDHE (Lpel DSHHETOHTEND
oW

a. 21000 b. 22000 c. 22500 d. 20000

Explanation:

Population 3 years ago was x.

3
X X 110 = 26620
100

X = 26620 x 1000 = 20,000
1331

At what time will a sum of 3000 will amount to 3993 at 10% p.a compounded
annually?

A. 2 years B. 3 years C. 4 years D. 5 years
gl (B aniguled . 3,000 B& 10% WG Q195G FmBH60 h. 3,993 S S55
aHHmeT DLeibhHen ChHemeu?

A. 2 oiamiBsel B. 3 oemiGamel
C. 4 syemiBamein D. 5 syewipasein
Explanation:

N
3000x 110 =3993
100

[11]“ 3993 1331 (11)3
— | =——or——or=| —
10) 3000 1000 10

N =3years
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